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K.C.S.E. BIOLOGYg PAPER _231/1 2009
2
i. {a) Name the exiernal feature whiclf is common in birds, fish and reptiles. {1 mark)
N
() State two characteristic(so u?'fungi. {2 marks)
@\
Q
2. Name two beneﬁts%(%t a parasite derives from the host. {2 marks)
Q
O
3.  State the funchongof the following parts of a light microscope: {2 marks}
(a) Objﬁgﬁe 1€ns
Q . .
@% &
LQ@ ragm.
Q/\E— >
(l?) @‘—3) The state during which a seed cannot germinate even when conditions for germination are
SN suitable is called. (1 mark;
@ @
\N
(@ \\ (k) The diagram below represents s stage during germination of a seed.
\N
Ca¥ - .
AN s :,/
| /i -
E%«
}
(i} Name the type of germinaticon ilustrated in the diagram, {1 mark)
{ii} State the role of the part labelled X during germination of the seed. {2 marks)
8.  {a) What iz meant by the following terms:
{i} hybrid vigour; (1 mark)
{ii) polyploidy? {1 mark}
{b) State twe causes of chromosomal mutations. {2 marks)
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.\\
q,
€.  The diagram below shom a section through & pm&t organ.
A

e

{a) (i} Name mgci%@af the piant from which the section was obtained. {1 mark}
O
{1i) GIQQA {@asﬂn ior your answer in (a) (i) above. {1 mark)
{b}\ﬁa b function of the part labelisd F. {1 mark)
Ko &
s\ mgm the function of the following cells organelles:
\Q
(@ \ {2} Ribosornes {1 mark}
A
QO& Q (b} Lysosomes {1 merk)
N
8. (&) Preguancy continugs if the ovary of an sxpeciant mether is rtemoved after 4 months,
Explain, (= marks)
(b) What is the role of the testes in the mammalian reproductive system? (L TaTks)
%.  (a) Name the causative agents of the foliowing diseases in hamans {2 marks}

i1} tvphoid;

{i1) amoebic dysentéry

(b) Name the disease in humans caused by Piasmodium falciparum, {1 mark)
1{. (2) (i) What is meant by vestigial structures? {1 mark)
(i7) Give an example of a vestigial structure in human. (1 mark)

(b} Expiain why certain drugs become ineffective in curing a diseasc afier many years of use,
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11. Inan experiment the shoot tip of a young tcg},ﬂt%’pi,ant was decapitated as shown in the diagram
below.

o
%) OOJ
OO\
&Q’§
N\
{ o
LR
A\
(2} State the expected results after 2 weeks. (1 mark)
{b) Give a reason for your answer in (a) above. (2 marks)

12. The diagram below represents a bone obtained from an animal.

FE et
- ~

(a) Name the bone {1 mark)
(b) Name the:

(i) bone which articulates with the bone named in (a) above a the cavity labeiled K;

(1 mark)
{ii}joint formed by the two bones. (1 mark)
(¢) State the function of the part labelled J. (1 mark)
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i3, {5) Distinguish between d:i‘i’us'cu ang active .iéﬁspoi"[ {2 marks)

{b) State onayole that is played by gsmraéisdn:
(i} plants: S (1 mark}

(ox
(i} anirmnals "O (1 mark)
Q’?’Q
14, Name a support ﬂssue(m planis that is not thickered with lignin, {1 mark)
15. Wame the type {%E‘@?’]Enm that ocours withia a plant cell. (1 mark)
Q;

16. (2} Na; (j? e: giﬁm.» exchange surface in insects (1 mark)
"E:“ v ig'%e surfece named in (a) above suited to its functicn? {2 marks)
i7. s\E X ‘aom wity planis do net require speciaiised excreiory organs {4 marks:

{@}é’\@g Piain how tae following facsors affect the rate of photosynthesis;

() Concentration of carbou (iv} oxide {! mark}
{b) Light intensity {1 mark)
1%, (e} Stste thees effecte of durping unireated sewage into a river. {3 marks)

{b) Name one prosess thai is responsible for loss of energy from one trophic level to the next.
{1 mark)

2%, Ciber then using the guadsat, give two meiheds of estimating popuiation of grass. (2 marks)

231, Explain what happsns in humans when the concentration of glucese in the blood decreases

below the normal level, {4 marks)
42, Explain how the carnassial teeih of 3 dog are adapied to their function. {2 marks)
Z3. State the function of iron in the human body. {1 mark}

24.  Explain how the following factors determine the daily energy requirements in humans:

(a) Age (1 mark)
(b) Occupation (1 mark)
{c) Sex (1 mark)

25.  State two ways in which acrenchyma tissues in aquatic planis are adapted to their function.
{ 2marks)
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26.

27.

28.

29.

For

Lo
Q\
% n
How are the mitochondria adzpted to ngh function?

State two ways in which anaemblc%splraﬁen is applied in indusiries.

o

(a) State three sﬂ*uctural«gfﬂfercnues between arteries and veins in mammals.

(b} Name a diseaath(%t causes thickening and hardening of arteries.
Q
Explain wh@h%@x of transpiraticn is reduced when humidity is high.
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